N\
Telescopic Cover Stay With Button Telescopic Cover Stay (‘/ H I

6102, 6103 6104
2-%4.2 36.5
5.
o ‘3—5ﬂ I 3 ;
[CEREN D
h NN
- 134 =H IR
2
268 13 ‘
; ©
& :1 Limiting groove Stopper, LH\ — & I -1—- 1 — 5 07[
T = =
» 4 ‘ IG 290
~ i \©; ] R
2-04.2
x * o >
= < e leol—=2 (]
$ = 2
£ v 2% 4.2 B
Stopper, RH Limiting groove

>
©
=
7]
=
o
>
(o]
(&]

>
©
3
2]
e
[
>
Q
(@)

M.S. nickel plated

Installation diagram Installation diagram A
Left Right .
Left opening

Left opening 6102-01

Right opening 6102-02

£
«
«
«
|
|
1,
«
y
&

ﬁ"
8 .
<
67
q
13 4 o
o, % q;(D
© <
e 35 =
2 49

Right opening

M.S. nickel plated M.S. nickel plated or stainless steel
6103-01 Left opening 6104-01-00 6104-01-304

Left opening
6103-02 Right opening 6104-02-00 6104-02-304

Right opening




N\
Telescopic Cover Stay Telescopic Cover Stay (‘/ H I

6105 6106
Long size
2-06.4 ‘
16.1
138 220 16.5
<
F %,
CS— .
— T Ter.
N o
31
35
< x
% [0)
E - A < .
=] 4.0 T
| | I
n ‘ S—— = = = |
® 91 T = T _ k;‘r J ©% 7% o N ®
o ! .ij 35 | | © X =
3 20 160 I 19.0 - G = 3
(@] f : 2 2 @ Q (@]
9.2 | &
w S
2 =
A
0@¢
Short size X, 16.5/—
25 :
1]
170 10
™ 127
P s L | [T &
ﬁ S § © oox &
: NS
o 5X10=50, <O 28 5
214
184 30 S
' w X Y minimal g
N ; door width
— w ~
C\.Il ! l{} o salls 98 90° 140 180 403
146 50 X
G 105° | 120 166 389
120° 110 150 373
135° 100 146 369

M.S. nickel plated or Stainless steel

Long size 6105-01-00 6105-01-304 M.S.zinc plated 6106-01-01
Short size 6105-02-00 6105-02-304 SUS 304 6106-01-304




Telescopic Cover Stay
6201

Index

>
©
3
2]
=
[
>
Q

(@)

ﬁ) :

Long size

26
[
15

54 1

L=395
= Lmax=710 19.5

Max=105 ° B=620 <

50 >l Mounting
bracket (screw
and selflocking
not included)

Telescopic Cover Stay

6301

L=214
L Extended 10

Short size
3
[ o
ST o
199 { ~L
64 Lo.f

e

|

|

|

\

|

|

\

U
~T -
=

L=215
= Lmax=355 195
Max=105 °B=315 o>
f b
O
=&
o Mounting

selflocking
not included)

bracket (screw and

S O
'06’.@%

LO!
N
L=132
L Extended 10
o
&
Long size Short size 35 I(\? 3
Stop L Extended L Extended ' OI ]
1. 234.5 164 LED—- % — © -3
2. 248 177 |
3. 261 189.5 -
4. 2745 202 50 | 19.5
5. 288 214.5
6. 301
7. 314.5
8. 327 Mounting bracket (screw and selflocking not include)
9. 340.5 Note: The cover stay is sold with mounting bracket and
10, 354 related accessories togehter as standard.

M.S. zinc plated

Long size 6201-01-00
Short size 6201-02-00

M.S. zinc plated
_ Stops q.ty Steel in zinc plated
Long size 10 6301-01-00

Short size 5 6301-02-00

=

W
- \
N - A8 8 @ B & 4 B & & 'ﬁA"

'

& 8 & & B & A g a0

Index

>
©
=
7]
o
o
>
(o]

(&]




N\
Self-gripping Gasketing Self-gripping Gasketing (‘/ H I

7201, 7202, 7203 7204 . 7205, 7206, 7207, 7404
<M _65 _
I 7 /
- | %/
! wire carrier Sponge-rubber, black epdm gasket Sponge-rubber, black epdm gasket
IENNENE TP . - 7204-145
1~3.5 7201-211

3~5 7201-212 24

14.5
124
/\\
E»:V\

x
()
©
[=

x
()
he]
=

8.5 <
I //
E / 1~4 wire carrier

Sponge-rubber, black epdm gasket

23.8
Sponge-rubber, black epdm gasket 18.8

115

7205-145

g) 0.8~2 wire carrier g)
¢ g
® 8
(O] (O]
L
Al N
<
wire carrier
Sponge-rubber, black epdm gasket

1~4

145
12.3

U

. 20

Sponge-rubber, black epdm gasket

wire carrier
1~4

7203-13

Sponge-rubber, black epdm gasket

7207-145

&
-
3

10 Sponge-rubber, black epdm gasket

Sponge-rubber, black epdm gasket
7203-156 7404-10




Cell Sponge Rubber

7301, 7302, 7303

Cell sponge rubber, black with strtch eliminating self-adhesive backing

Depi D cPOW
3

7301-1003 7302-1003

10 4 7301-1004 7302-1004

;2: 5 7301-1005 7302-1005
3 7301-1503 7302-1503

15 4 7301-1504 7302-1504

= 5 7301-1505 7302-1505
% 3 7301-2003 7302-2003
((D_;é 20 4 7301-2004 7302-2004
5 7301-2005 7302-2005

3 7301-2503 7302-2503

25 4 7301-2504 7302-2504

6 7301-2506 7302-2506

3 7301-3003 7302-3003

30 4 7301-3004 7302-3004

5 7301-3005 7302-3005

Cell sponge rubber, black with strtch eliminating self-adhesive backing

16

7 7303-0716
5 16 7303-0516
3 16 7303-0316
8 16 7303-0816
7 10 7303-0710
12 10 7303-1210




o L= 45+1 2 L=35+1
% (16) &
~
HO = e
-} '*‘_
Door D
\ oor\ offset out
© 210 -
W -1 ”T % © 2170 fwnh stopper
S e
T +. I 1 / P
O I @ I 3 %
@ T T I
N | — o Q@
— # 1 i
— 'Z% o .
J' with stopper ™ < =
S
—— i it
o~ o
Reversed ) Reversed 2‘
w
|
) : 3 :
o T k- T
I 17'] ? = 5 h Z
5 I 0 T - T
o o
[ —" > J 7
% L \ e
with stopper o| ‘ f|
g :‘ With stopper
x e | o
g v g
E <

[}
[0}
=
o
173
173
[0}
Q
[3}
<

-16
14
12
-10
-8
5
-4
D
0
+2
+4
+6
+7
+8
+10
+12
+14
+16
+17
+18
+20
+22
+24
+26
+27
+29

+35
+37

o o AN

=
o

14
16
18
20
22
24
25
26
28
30
32
34
35
36
38
40
42
44
45
47
50
53
55

14
16
18
20
22
25
26
28
30
32
34
36
37
38
40
42
44
46
47
48
50
52
54
56
57
59
62
65
67

i

Offset

M.S. zinc plated, stainless steel material upon request

H=GH+BH

20 24 34 44

22
24
26
28
31
32
34
36
38
40
42
43
44
46
48
50
52
53
54
56
58
60
62
63
65
68
71
73

26
28
30
32
35
36
38
40
42
44
46
47
48
50
52
54
56
57
58
60
62
64
66
67
69
72
75
77

36
38
40
42
45
46
48
50
52
54
56
57
58
60
62
64
66
67
68
70
72
74
76
77
79
82
85
87

46
48
50
52
55
56
58
60
62
64
66
67
68
70
72
74
76
77
78
80
82
84
86
87
89
92
95
97

L=45mm

without stopper without stopper

9100-0402
9100-0404
9100-0406
9100-0408
9100-0410
9100-0413
9100-0414
9100-0416
9100-0418
9100-0420
9100-0422
9100-0424
9100-0425
9100-0426
9100-0428
9100-0430
9100-0432
9100-0434
9100-0435
9100-0436
9100-0438
9100-0440
9100-0442
9100-0444
9100-0445
9100-0447
9100-0450
9100-0453
9100-0455

9100-0402F
9100-0404F
9100-0406F
9100-0408F
9100-0410F
9100-0413F
9100-0414F
9100-0416F
9100-0418F
9100-0420F
9100-0422F
9100-0424F
9100-0425F
9100-0426F
9100-0428F
9100-0430F
9100-0432F
9100-0434F
9100-0435F
9100-0436F
9100-0438F
9100-0440F
9100-0442F
9100-0444F
9100-0445F
9100-0447F
9100-0450F
9100-0453F
9100-0455F

Offset

L=35mm

9100-0606
9100-0608
9100-0610
9100-0613
9100-0614
9100-0616
9100-0618
9100-0620
9100-0622
9100-0624
9100-0625
9100-0626
9100-0628
9100-0630

9100-0635

9100-0638
9100-0640
9100-0642
9100-0644

9100-0606F
9100-0608F
9100-0610F
9100-0613F
9100-0614F
9100-0616F
9100-0618F
9100-0620F
9100-0622F
9100-0624F
9100-0625F
9100-0626F
9100-0628F
9100-0630F

9100-0635F

9100-0638F
9100-0640F
9100-0642F
9100-0644F

9100
L= 4541 L= 4541
/
. L (16) (16)
1A O B 4
( J
N o
Door Door. F
C N — T ~ 1) : ’ '
2| with stopper_ 21 g z 21 with stopper 219 p %
T E E T H I
o \ﬁ 9 o \-I o
I I
S .
25'0 05 o 26
& = 4
Reversed © % Reversed o
o .
s
i 5 174 E ) ; 178 E = -“‘/:-‘
54 - ; ok " 2 *
ﬂ T )
% O ® - .\ ©
% With stopper S . ERI=: With stopper x
< 8 § 1210 S E
Offset % Offset
o
M.S. zinc plated, stainless steel material upon request "
H=GH+BH
-16 2 14 20 24 34 44 2
-14 4 16 22 26 36 46 9100-9504 9100-9504F  9100-9604  9100-9604F
-12 6 18 24 28 38 48 9100-9506 9100-9506F  9100-9606  9100-9606F
-10 8 20 26 30 40 50 9100-9508 9100-9508F  9100-9608  9100-9608F
-8 10 22 28 32 42 52 9100-9510 9100-9510F  9100-9610  9100-9610F
-5 13 25 31 35 45 55) 9100-9513 9100-9513F  9100-9613  9100-9613F
-4 14 26 32 36 46 56 9100-9514 9100-9514F  9100-9614  9100-9614F
-2 16 28 34 38 48 58 9100-9516 9100-9516F  9100-9616  9100-9616F
0 18 30 36 40 50 60 9100-9518 9100-9518F  9100-9618  9100-9618F
+2 20 32 38 42 52 62 9100-9520 9100-9520F  9100-9620  9100-9620F
+4 22 34 40 44 54 64 9100-9522 9100-9522F  9100-9622  9100-9622F
+6 24 36 42 46 56 66 9100-9524 9100-9524F  9100-9624  9100-9624F
+7 25 37 43 47 57 67 9100-9525 9100-9525F  9100-9625  9100-9625F
+8 26 38 44 48 58 68 9100-9526 9100-9526F  9100-9626  9100-9626F
+10 28 40 46 50 60 70 9100-9528 9100-9528F  9100-9628  9100-9628F
+12 30 42 48 52 62 72 9100-9530 9100-9530F  9100-9630  9100-9630F
+14 32 44 50 54 64 74 9100-9532 9100-9532F  9100-9632  9100-9632F
+16 34 46 52 56 66 76 9100-9534 9100-9534F  9100-9634  9100-9634F
+17 35 47 53 57 67 77 9100-9535 9100-9535F  9100-9635  9100-9635F
+18 36 48 54 58 68 78 9100-9536 9100-9536F  9100-9636  9100-9636F
+20 38 50 56 60 70 80 9100-9538 9100-9538F  9100-9638  9100-9638F
+22 40 52 58 62 72 82 9100-9540 9100-9540F  9100-9640  9100-9640F
+24 42 54 60 64 74 84 9100-9542 9100-9542F  9100-9642  9100-9642F
+26 44 56 62 66 76 86 9100-9544 9100-9544F  9100-9644  9100-9644F
+27 45 57 63 67 77 87 9100-9545 9100-9545F  9100-9645  9100-9645F
+29 47 59 65 69 79 89 9100-9547 9100-9547F  9100-9647  9100-9647F
+32 50 62 68 72 82 92 9100-9550 9100-9550F  9100-9650  9100-9650F
+35 53 65 71 75 85 95
+37 55) 67 73 77 87 97




Cam

Cam

n &
ol ¢
S
* I
[T v o
17+ N—=—z-—2q Y "
ey P-— 1 Qe
i
L= 4541 <z3’
M.S. zinc plated
/7 &
o (7 N | v [ e
& ) 9100-2518 25 0
8.3 Distinguishing mark 9100-2018 20 0

M.S. zinc plated

Cam type Total [ Cam
grip

Max.outer door Ts Camtype |Total | Cam offset
grip
18

offset Max.outer door Ts
For assembled latch For assembled latch .

9100-0700 / / / 9100-0710 2 6 !

9100-0701 / / / 9100-0711 20 4 6 9

9100-0702 2 -14 1 9100-0712 22 6 6 U

9100-0703 4 -12 3 9100-0713 24 8 6

9100-0704 6 -10 5 9100-0714 26 10 6 M.S. zinc plated

E Lock ref. to page# 9100-0706 10 -6 6 9100-0716 30 14 6 9100-4901-6002 E
1.Lock 1415 Series(page 1D-015) 9100-0707 12 -4 6 9100-0717 32 16 6 9100-4901-6314
9100-0708 14 -2 6 9100-0718 34 18 6
9100-4901-7300 73 0
@ 9100-0709 16 0 6 9100-0719 36 20 6 @
= £
2 2
8 o3 % , 2
5} Qs J o
< 332 ‘ - <
[a2] [v4 —

A [T v
174 @ 1 L 01041 v
o \\=:=:|—-m \. ‘, @
1) - :Oq e >
o [H —
&5
'

!

M.S. zinc plated !

I L= 4541 ‘
[

P $ I T
©
0y
S
)

Distinguishing mark

17

9100-4902-8800 88 0

M.S. zinc plated

Lock ref. to page#

1.Lock 1423 Series fixed grip range
(page 1D-027/028)

2.Lock 1436 Series fixed grip range
(page 1D-039/042)

3.Lock 1437 Series short shaft
(page 1D-043)

4.Lock 1439 Series short shaft
(page 1D-045)

Cam type

9100-0800
9100-0801
9100-0802
9100-0803
9100-0804
9100-0805
9100-0806
9100-0807
9100-0808
9100-0809

Total
grip
15

17
19
21
23
25
27
29
31
33

-18
-16
14
=i
-10
-8
-6
-4
2
0

Max.outer door Ts Cam type

For assembled latch

14
16
18
18
18
18
18
18
18
18

9100-0810
9100-0811

9100-0812
9100-0813
9100-0814
9100-0815
9100-0816
9100-0817
9100-0818
9100-0819

Total
grip

35
37
39
41
43
45
47
49
51
53

12
14
16
18
20

Max.outer door Ts
For assembled latch

7

N N N N N NN NN

9100-4902-6012 60 12
@ j 9100-4902-8118 81 18
2
4
6
8
10

M.S. zinc plated

I N BN

9100-4501-8800

102

f oA

($3]




Cam Slide shoe
9100 9100

Slide shoe for cam

stroke 26mm

H 3 20

o4
- = w
[W £ IS ! @ N
F - M.S. zinc plated ~
‘ =
JUAET 5 @
f/ A\ = 8 73}7 w
NS 32 25 9100-9425L 9100-9425R - 19
27 9100-9427L 9100-9427R Mark for the width c h lio plat Slide shoe f
H — ; am shoe clip plate ide shoe for cam
GH=20|| 4 26 29 9100-9420L  9100-9429R of suitable cam PP
31 9100-9431L 9100-9431R
2 Black POM
9100-1819-PM
| — _ Remark :Applicable to the cam with width of 19mm only
5
Ll e Assemble instruction for slide shoe
N M.S. zinc plated
= : 90° Square hole with round rivet 9100-3618B g
=
14 90° Square hole with round rivet threads ~ 9100-3618C — -
%) (2]
2 90
15} o
[} (7]
1) (%]
o) (0]
Q [&]
o o
< <
% Put the cam shoe clip plate on back of cam Push the Slide shoe onto cam
\U
M.S. zinc plated
9100-1703
4
—~if—
\_R

M.S. zinc plated

9100-1701 Assembled complete

P28

H-2
2

26

11

M.S. zinc plated

i Notes: Ifthe guiding shoe for the cam is used, the H dimension is reduced by 2 mm




Key Key (.) H s I

52.0
| NEW
34
o
o = el f_ ﬁ
S ‘ A
L0
‘ re!
9.9 o
o | —_ -~ |
~ : |
Si !
o 013+0.15 c ‘
14.0 12, ol 7.5
L=80 L=55 e
7N
Key Code &‘;? 094" ,‘E BT *3:@ % —— 1D
o iﬁg ‘ | -
1o) r
@ o8 ] )
[aN]
. B !
Square 8mm Triangular 8mm Double bit 5mm %
T
() |
E§ Zinc die, black textuerd powder coated or bright chrome | 5
2 L=80mm L=55mm C 2
Key type
Double Bit 5mm 9200-80-015-20 9200-80-015-30 9200-55-015-20 9200-55-015-30
_§ Triangular 8mm 9200-80-038-20 9200-80-038-30 9200-55-038-20 9200-55-038-30 .§
o o
2 Square 8mm 9200-80-048-20 9200-80-048-30 9200-55-048-20 9200-55-048-30 a2
8 8
Q o
< <

A:For Square 8mm insert B:For Square 6mm insert

50

T
[18.2

C:For Triangular 8mm insert D:For Double Bit 3mm/4mm/5mm insert

2.5 o

14

g ™ \

9200-333 Full brass
YK333
9200-333PA PA knob+brass key
9200-751 CH751 Full brass
9200-2233 YK2233 Full brass Zinc alloy, sandblastin nickel plating

9200-101 YK101 Full brass Sandblasting nickel plating 9200-01-78




Rod Rod

X 75 = ' ' N
o
3 ' e/:y z 16.5 | éﬂs 7.5 215
1 = ' ] 1
T ¥ Nt N I N NS . S e lo
I : ‘ ' 1o 4
! S S | : ‘ ' ! NG |
' , @8 v 1 H >
| 1 [ ' 1 1 + 1
1 ] 1 1 1 - —
1 .
‘ : . ‘ ' | Door Height less than 1600mm
! : ! Hho ! ! : | o only have one copper rivet
| ! | | | /L o801 || =
i I I ! N ! H A —
[ 1 o (1] : “q U/ @ H
1 ' '
| | | IR |
— —— I I ' | | ! I . >| 17 |
- 1 ' | | |
i : ! v - =
I ' ™ ] , I I : | | =
I : 1 1 H '
28| - | [ | ! !
I . [ [ ' \ [ : | | 26
! ! ‘ ‘ : 1 ' ' i
! ‘ : : $ : | | o I.0X. 1 H —1 QA
| ' I I ' Q)?» ' H H 2 — H
‘ | | 2 P : &
! ‘ ‘ . | : .__J,Nll Tj 14 3
o A N I B S . S - i
A B ® | ' T - !
. ! . 1 .
Version A 1 Version B ! Version C 1 Version DA M.S. zinc plated b b
Rods
§ Door height Version H é
1 1 i i
£ ? P 16.5 el Nylon roller o ' Nylon roller NS IS
5 9y 0} : H=23.5/285 ® 800-1200 — 1265 9301-H-126.5
s 1 ] I 1 _
| i oo H] - ! ‘i|1 1200-1600 = 2765 9301-H-276 5
2 H P : : 1600-1900 1015 5265 9301-H-526.5 @
= o 1 = 1 H =
S @ : : 19002200 1015 6765 9301-H-676.5 ]
(%] (%]
(0] ! ! (0]
Q 1 1 Q
2 1 1 2
QS 1 1
: : Grs A_
1 1
= = ! - l )
-l 1 1 1
' ~ L : ~
: : ‘ %
1 1
[, : : !
&
. : : | 9
D DA : : ‘ ha
1 1 —
1 1
%‘L 1 1 ‘
Lo @ > ! ! 1
. N a : = : i
U N~ 1 N LO| 1 ~d T 0| ~J
1 «© — 1 © — Ne
4 ' - ol g ' U g
' ' 14
. 1 1 .
Version D : Version E : Version F (H=23.5) o>
Version G (H=28.5) g
o
I
S0 T T T 2 I El
< ©lf
b 9301-A-0400 9301-B-0400 9301-C-0400 9301-D-0400 9301-DA-0400 9301-E-0400 9301-F-0400 9301-G-0400 o i
| 500 9301-A-0500 9301-B-0500 9301-C-0500 9301-D-0500 9301-DA-0500 9301-E-0500 9301-F-0500 9301-G-0500 o
£ [ee]
600 9301-A-0600 9301-B-0600 9301-C-0600 9301-D-0600 9301-DA-0600 9301-E-0600 9301-F-0600 9301-G-0600
700 9301-A-0700 9301-B-0700 9301-C-0700 9301-D-0700 9301-DA-0700 9301-E-0700 9301-F-0700 9301-G-0700 M.S. zinc plated
800 9301-A-0800 9301-B-0800 9301-C-0800 9301-D-0800 9301-DA-0800 9301-E-0800 9301-F-0800 9301-G-0800 - L
900 9301-A-0900 9301-B-0900 9301-C-0900 9301-D-0900 9301-DA-0900 9301-E-0900 9301-F-0900 9301-G-0900 Vercion X 185  9301-X-1850400 9301-X-185:0500  9301-X-185-0600 9301-X-185-0700 9301-X-1850800 9301-X-185-0900 9301-X-185-1000 ~ 9301-X-185-1100
ersion
1000 9301-A-1000 9301-B-1000 9301-C-1000 9301-D-1000 9301-DA-1000 9301-E-1000 9301-F-1000 9301-G-1000 A 225  9301-X-2250400 9301-X-2250500  9301-X-2250600 9301-X-2250700 9301-X-225-0800 9301-X-2250900 9301-X-225-1000  9301-X-22.5-1100
E FIG 1100 9301-A-1100 9301-B-1100 9301-C-1100 9301-D-1100 9301-DA-1100 9301-E-1100 9301-F-1100 9301-G-1100 275  9301-X-2750400 9301-X-275-0500  9301-X-27.50600 9301-X-27.50700 9301-X-27.50800 9301-X-27.5-0900 9301-X-27.5-1000  9301-X-27.5-1100

Remark 100PCS  MOQ=100PCS



\
(‘J H I Rod accesories Rod accesories

9405 . 9401 9401
%, 015 16 NEW
L A 8.3
= ‘
o TNl 258
N o |
(3 J
or H -
Lo, (_\/ A ,,,,,,,,,,,,,,,,, N | |
v : |
A-A
Zinc die, zinc plated or SUS 304
9405-01 9405-01-316
112.5
‘ 112.5 ‘ y
EIEH Rod catch N ‘ i -
™M
25 19 ' When using dust cover, the door thickness increases by 2.3mm
S x
9
2 4 35 E
( | ) u p
R 2-26.5 o
8 il - _ S 8
3 : ' 2-@ 125 o 2
: | © g
S 8
< N NS Y ™ 2
12 6.5 ) r
40 20 ™ A f "
e 6

R

o ® J/”’

Zinc die, black powder coated ) 89

9401-4024

- | 131.5 ‘
n _ | T T
S | 2
o
v i
o When cover is closed,the total thickness is 10 mm
a _ N
6 B
Remark
1.2 24.2 1.Suitable for 1245 series, ref. to page 1B-014
31.5

Zinc die, black powder coated, black PA clamping pin Material: TPE

9401-4025 9401-1245




Rod accesories Rod guide
9401 9401

16 - 125
\ |4 020
e 3 \ _ [ /%
< 1 Lo
— - [ L] ©
<®r £ 13 = ! % Q
] ! ol o — ‘ WW
r ) ) & [
S Znd
S d . - ‘ M6
3 L ) | 28
} 2 228
y S
| o
™~
Zinc die, m.s. zinc plated
' LA
44 30 9401-4430
275 - 38 25 9401-3825
23 - 32 20 9401-3220
x 8 17 x
[0} (0]
2 ‘ y -
4 C °° 6.3 125_4
o . .
i Version A | 1]
~ vavi
)] — 1]
e o For weld stud M6x16 or M6x20 = \ © ‘ £
2 E— R o1 el
g S | 1/ = | 4
Qo [as) | | w o
> ]« 36 7 = TS RIS <
] oo
6 A0 % J
11.5 26 144
215
Strap can be broke off
Zinc die, black powder coated
For weld stud M5x12 .
(o] -
Rod catch N ].@
o | N4
, 40 26 7
10 R10 5.4
R /_
: N @ =
(e}
& T g;l U N Version C
2-0 6.5 [ - I = o
v O (o) [aN]
| - "_Q
\ @12.4X90 ° (2X) 25£0.1 |72
Black PA rod guide 22
Zinc die, black textured powder coated _—
M.S. zinc plated 9401-4026-01 Version B 9401-2518
Black Textured Powder Coated 9401-4026-20 Version C 9401-2622C




Nut

9501

Index

[}
[0}
=
o
173
173
[0}
Q
[3}
<

M16
o i <
N ©
‘ ! =
Profile A-A
M22
- - 4.8
) [t}
~ -
N — — *
N
[N
b =
JL*O 5
| 31 -
Profile A-A
i M22X1.5
Material M16X1
with triangular dot on one side paint nut with straight dot on both side
Zinc die casting 9501-M1601 9501-M220111 9501-M220122 9501-M220113
Full brass 9501-M1602
Stainless steel 9501-M22304

Accesories

9501
9501-4704-1 9501-4704-2
For cutout 22.5x20.1
Pull tab in-line with cam Pull tap perpendicular to cam
2222
|
i} )(T\
=t AN
S ONALN T
N

28

33 26
30.5 o 9 * 32139 _
| i o s «
| T T
© 1 Tﬁ
1 A 302
t 42.1
=
N
Profile A-A
Profile A-A
Plastic PA
For cutout 22.5X20.1 9501-4702
Pull tab in-line with cam For cutout 13.5X 016 9501-4704-1
Pull tap perpendicular to cam For cutout 13.5X016 9501-4704-2

Large size
For cutout 22.5x20.1
* 2167
Small size A == R
For cutout 16x13.5 o4 ( 4 ) |
46 21
34.5
* 225 1+0. 1 227
ot X 226.50 ,
* 221.57)
% 224+0.05 q
| |
| 1
|
L -
N -
Large size 9401-4101
Small size 9401-4102

Index

Accessories




Accesories
9606

©HSI

External hexagonal cross flange screw

5.5

M6 o

M.S. zinc plated

I - N e

9601-M506 M5 X 6 9601-M606 M6 X 6
) 9601-M508 M5 X 8 9601-M608 M6 X 8
[0}
-g 9601-M510 M5 X 10 9601-M610 M6 X 10
9601-M512 M5 X 12 9601-M612 M6 X 12
9601-M516 M5 X 16 9601-M616 M6 X 16
_6 9601-M518 M5 X 18 9601-M618 M6 X 18
5
[}
(%]
Q
Q
Q
<C
2 D1
2 D2 203
|
| T

N
T
— /+\
g N
J |
P - ‘
: ' 3 |
) T
; M D4
i f'l ¥
ik M.S. zinc plated
e 9 | [ ]| we ] eor | ooz | eo3 | eps | m |
¥ g 9606-M8 15 33.3 17 32.6 20 6.3 16 8
9606-M10 18 41.5 21 41 25 8 20 10
) 9606-M12 22 51 26 50 30 10 25 12
9606-M16 27 60 30 60 85 12.5 30 16
9606-M20 30 71 35 72 40 16 35 20
9606-M22 34 84 43 81 44 18 40 22
9606-M24 38 90 45 90 50 20 45 24
9606-M30 45 110 55) 110 60 25 60 30
9606-M36 55 131.5 65 133 70 315 70 36




